_ Important Note : 1. Oncompieting your answers, compulsorily draw: diagonal cross lines on the remaining blank pages.

2. Any revealing of identification; appeal to evaltiator and /or equations written-eg, 42-+8 = 50, will be treated as malpraciice.
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e F’(')'urtl?) Semester MBA Degree Examination, November 2020

Mergers, Acquisitions and Corporate Restructurmg

3 hrs £y - > »Max Marks:100
Note: Answer a FIVE Sull questions. 7
that do you mean by merger andﬁ cqu151t10n” ,»Q ~ (03 Marks)
Discuss.the motives of mergel e present world of business. (07 Marks)

. -Name the phases in the industry life cycle. Discuss the strategic significance of each phase

: l'n merger, (10 Marks)
Define due diligence. (03 Marks)
Describe the managerial challenges of mergers and acqmsntlons (07 Marks)

- Explain the tips required for successful merger process. (10 Marks)
What do you mean by business valuation? = (03 Marks)
'lescuss market based approach methods‘of business valuation. (07 Marks)

con51der1ng merger with*B*1td. ‘A’ Itd shares atercurrently traded at Rs.25, it has
2,00, OOOf\:Shares outstanding andits: proﬁt after tax is 4,00,000. ‘B’ Itd has 1,00,000 shares
outstanding. Its current market ane is Rs.12.50 and it PAT are 1,00,000, The merger will
be affected by means of stock swap. ‘B’ Ltd h SFwhich ‘A’ Ltd will
offer the current market Vaiue of ‘B’ Ltd shares
(1)  Whatis the premerger earning per sharg’ and:-PE ratio of both compames"

r (i) Tf ‘B’ Ltd PE ratio is ‘8’, what is its current market price? What is the exchange ratio?
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What will ‘A’ Ltd post merger EPS be?

(iii)  What must the exchange ratio be for ‘A’ Itd’s that pre and post merger EPS to be the

. same? (10 Marks)
~Define Amalgamation. (03 Marks)
Discuss.the types of Amalgamatlon and add a note on-methods of accounting. (07 Marks)

Explam value creation in horlzontal vertlcal and conglomerate mergers. (10 Marks)

:s;,Deﬁne takeovers. Namefthe types of takeovers (03 Marks)

! 5D1scuss the antltakeover defensive rneasures available to the firm in order to make it

(07 Marks)

(10 Marks)

‘What do you mean corporate restructuring? (03 Marks)
Describe the significance of corporate restructuring in the present situation. (07 Marks)

: What is LBO? Discuss the different type of LBO’s with suitable examples. (10 Marks)
What is MLP? Name the types of MLP’s. (03 Marks)

~ Describe the process of due diligence. (07 Marks)
What is swap ratio? Discuss the methods of determining swap ratio with formulae to be used

in each method. (10 Marks)
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A case in point: Mars buys Wrigley in one sweet deal :

Wrigley Corporation, a US based leader in Gum and confectionary products, had been
loosing market share since 2006 to Cadbury Schweppes in the US gum market. Mars
Corporation, a privately owned candy company with annual global sales of $22 billion,
sensed an opportunity to achieve sales, marketing and distribution, synergies by acquiring
Wrigley. On April 28, 2008, Mars announced that it had reached an agreement to merge
with Wrigley for $23 billion in cash. ; e
The terms of agreement were approved unanimously by the boards Kof‘bo'th firms. Wrigley
share holder would receive $80.00 in cash for each share of common stock outstanding. The.
purchase price represented a 28 percef [ remium to Wrigley’s c%losing share price of $62.45
on the announcement date. The merged-firms would, in 2008 enjoy a 14.4% share of global
confectionary market, annual rexeﬁy‘e of $ 27 billion and 64,000 employees worldwide.
When the deal was consummate 'in September 2008, it was a'strategic blow to the efforts of
Cadbury Schweppes to continué as the market leader_in"the global confectionary market
with its gum and chocolate business. Prior to theannouncement, Cadbury had a 10%
worldwide market share. :

Wrigley became a separate standalone subsidiary of Mars, with $5.4 billion in sales. The
deal helps Wrigley augument its sales, marketing and distribution capabilities. To provide
more focus to the Mars brands and stimulate growth, Mars transferred its global non-
chocolate confectionary sugar brands to Wrigley. Bill Wrigley, Jr., remains executive
chairman of Wrigley, and the Wrigley management team remains in place. The combined
companies now have substantial brand recognition and product diversity in six growth
categories: chocolate, non-chocolate confectionary, gum, food, drinks and pet care products.
The resulting confectionary power-hour also expects to“achieve significance cost savings by
combining manufacturing operations and having §u6$taﬁfjal presence in‘grﬁerging:marke_ts.
Although metgers amon\gf%s“ﬁoffhpetitors are not uhusgaf, the deals hig@iyﬁgléveraged financial
structure is a typical of.trarisactions of this-type. Almost 90% of th& purchase price was -
financed through borrowed funds, with remainder financed largely by a third party equity
investor, Mar’s upfront exposure consisted of paying for closing costs from its cash balance
in excess of its operating needs. JP Morgan chase and Goldman Sachs provides the debt
financing for the transaction, $11 billion and $5.5 billion, respectively. Berkshire-Hathaway,
a4 nontraditional source of high-yield financing, put in an additional $4.4 - billion in
subordinated debt. Typically such financing would have been provided by investment banks
or hedge funds and subsequently repackaged into securities and sold to long term: investors.
Such as pension funds, insurance companies and foreign investors, but the meltdown: in
global credit markets in 2008 forced investment banks and hedge funds to withdraw from
the high yield market in an efforts to strengthen their balance sheet. Berkshire Hathway
. ..completed the financing of the purchase price by providing $2.1 billion in equity financing
".in exchange for a9:1% ownership stake in Wrigley. '
Questions: =@ K
Why did Wrigla};’s share price nogrise to the $80 offer price following the announcement of
the merger? Why did competitor Cadbury shares gain 3.5% following the announcement?
e, (04 Marks)
Speculate as to how the Wrigley family may have been convinced to sell their firm. :
{ . (04 Marks)
How did factors external to both firms specifically influence their decision to merge?
(04 Marks)
Would you characterize this transaction as a friendly or hostile takeover? Why was this
particular approach taken? (04 Marks)
Of the motivations for business combinations outlined in the syllabus, which do you think
were most applicable in this case study? " (04 Marks)
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